MATHS

BOOKS - TULSHI PUBLICATION

PGS UEA

1. HAND 9937 @I~ PWIHA = 55 OIfF 4ade

/HAN = 55°|

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7ivRpdc8Xcq0

2. ABCD J8 W@xA IEIAB = 4.2 OIfF ade

LZABC = 50° |

o Watch Video Solution

3. QBI6 MIFIBIF HEAD WA I, i HE = 5.2

oif, EA=6.8 CIfF ZE = 70° |

o Watch Video Solution



https://dl.doubtnut.com/l/_7ivRpdc8Xcq0
https://dl.doubtnut.com/l/_jxc9BdWRxUmg
https://dl.doubtnut.com/l/_XnsLgNwAol2Q

4. Q6 IFT WA IEI, IIF SOTHRI6 IS LT 6

CIfT 932 9B @I 75° |

o Watch Video Solution

5. LION J89 ®Wxmd d@IL = 6 Ofd a3e

ZLIO = 58° |

o Watch Video Solution



https://dl.doubtnut.com/l/_YAILNjEamPIA
https://dl.doubtnut.com/l/_uXoGRm7ieCoP

6. 96 BYGST MINE O B!, T MI = 3.8
OIfd, IN = 3.4 OIfF, NE = 4.5 OIfg ME = 5 OIfJ 932

/I=80°

o Watch Video Solution

7. 935 G I3TJ IBFIA Wi 200 Bipt dfedsg

RI6T W 8% I AT B L J2T 97 RGI T

PO BIBI AT ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3uOBzC9R2awA
https://dl.doubtnut.com/l/_92Vlp5PvCiyk
https://dl.doubtnut.com/l/_4wrdGXw26PMr

8. ABCD I8 W@FA PWEIAB = 33 OIfF 4ade

LZABC = 85° |

° Watch Video Solution

9. 936 BUEGST NAIL WIS~ B, 9 NA = 3.6
oIfF, Al = 6.5 OIfd, IL = 5 OIfF, LA = 125° 432

/I = 100° |

° Watch Video Solution



https://dl.doubtnut.com/l/_4wrdGXw26PMr
https://dl.doubtnut.com/l/_jMKW6se4fb91

10. 9516 BYEGST NEST WIS B!, Aid NE = 4.2
OIfd, ES = 3.6 OIfF, ST = 4.8 Ofd, /E = 30° 432

/8 = 150°

o Watch Video Solution

11. 9316 UGS HAIR WA S, AT Al = 4.5
oIfd, IR = 3.5 OIfF, RH = 6.5 OIfF, /R = 50° 432

/I = 100°

o Watch Video Solution



https://dl.doubtnut.com/l/_qFrI0s6GVajG
https://dl.doubtnut.com/l/_IufdGJvjzesU
https://dl.doubtnut.com/l/_o1zfevZ4f8Uj

12. 9516 BYES BIRD ©IFA BI, TiF BI=IR =3

C1fd, DB = 5 CIfd, /B = 90° 932 /I = 105° |

° Watch Video Solution

13. 936 UGS ABCD WA I, TF AB = 3.5
o1y, BC = 6.5 o1y,

/A =T75° /B =105°, /C = 120° |

° Watch Video Solution



https://dl.doubtnut.com/l/_o1zfevZ4f8Uj
https://dl.doubtnut.com/l/_YOEwE04bXk3R

14. 935 PQRS I7 I B, TJ HoTHI6 Jod

et 4 OIfY Q3R /P = 50°|

° Watch Video Solution

15. ABCD 936 bugst GIftd! T AB = 4.2 (1Y,
BC = 5.5 (¥, CD = 6 O 932 LABC = 110° 8

@17 £BCD = 70°

° Watch Video Solution



https://dl.doubtnut.com/l/_HWfrU6QRlxD1
https://dl.doubtnut.com/l/_v6wzBx4pJ35C

16. ABCD 5T GIgA IE!, TIF AOTHI06 I8 T

5 (1Y 932 /BCD = 30° |

o Watch Video Solution

17. ABCD I8 WFA I I, IJ AOTHI6 I8 hds

60T, LA = 70° |

o Watch Video Solution



https://dl.doubtnut.com/l/_Bc664lzO8lP8
https://dl.doubtnut.com/l/_kjcJnrSiVDSp

